
     PLOW MOUNT INSTALLATION INSTRUCTIONS 
                             2014 POLARIS ACE 
 
                             PART# 4501-0617 
 
Remove the factory skid plate. Hang the two square u-bolts in place over the main rectangular frame tubes in front of 
the horizontal crossmember as shown in picture. Now hang the front round u-bolts in place over the small round 
frame tubes that come down into the main frame and they will go right in front of round support tube going to the 
outside as shown in picture. Place bottom mount up onto u-bolts and use the flat washers and nylock nuts to secure. 
Align and tighten firmly. NOTE: You can install over skid plate but you will have to align and mark u-bolt locations and 
drill you skid plate for u-bolt to come through. Your push tube will pin up to tabs using the wire loop pins that came 
with push tube kit. 

 
 
 

 

 

 

 

 

 

 

QUESTIONS OR COMMENTS CALL 320-964-1616 7:00 to 4:30 CST  Mon-Thur                                                           INST2761PF 

ITEM PART# QTY. DESCRIPTION
1 2761-100 1 Plow Mount Weldment
2 HDW9218 2 5/16 x 1-1/2 x 2-3/4 Rd. U-Bolt
3 HDW2073 2 5/16 x 1-1/2 x 3-1/2 Sq. U-Bolt
4 HDW9002 8 5/16 Flat Washer
5 HDW7058 8 5/16 Nylock Nut


